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A 



1 True/False statements: 

A. "Either John or his brothers are responsible" is grammatically correct. 

B. The phrase "a number of students" takes a plural verb. 

C. When subjects are joined by 'as well as', the verb agrees with the first 

subject. 

D. "The committee have decided" is always incorrect in standard English. 

 

 a) A-True, B-

True, C-True, D-

False 

b) A-False, B-

True, C-True, D-

False 

c) A-False, B-

True, C-True, D-

True 

d) A-True, B-

False, C-False, 

D-True 

b 

2 Assertion and justification: 

A: Possessive determiners like 'my', 'your', 'his' change form based on the 

gender of the noun they modify. 

B: In English, possessive determiners agree with the possessor, not with the 

thing possessed. 

 

 a) Both A and B 

are true, and B 

explains A 

b) Both true, but 

B doesn't explain 

A 

c) A is false, B is 

true 

d) Both A and B 

are false c 

3 Matching pairs: 

A. Schindler's List i. Steven Spielberg 

B. Titanic ii. James Cameron 

C. Parasite iii. Bong Joon-ho 

D. The Godfather iv. Francis Ford Coppola 
 

 

 a) A-i, B-ii, C-

iii, D-iv 

b) A-ii, B-i, C-iv, 

D-iii 

c) A-iv, B-iii, C-

i, D-ii 

d) A-iii, B-iv, C-

ii, D-i 
a 

4 True/False statements: 

A. Humans and chimpanzees share about 98% of their DNA. 

B. The atomic number of an element represents the number of protons and 

neutrons. 

C. The chemical symbol for gold is Au. 

D. Sound travels faster in water than in air. 

 

 a) A-True, B-

False, C-True, 

D-True 

b) A-True, B-

True, C-False, 

D-False 

c) A-False, B-

True, C-True, D-

False 

d) A-True, B-

False, C-True, 

D-False 

a 

5 Assertion and justification: 

A: The Olympic Games were not held in 1940 and 1944. 

B: World War II disrupted many international sporting events during this 

period. 

Answer 
 

 a) Both A and B 

are true, and B 

explains A 

b) Both true, but 

B doesn't explain 

A 

c) A is true, B is 

false 

d) A is false, B is 

true a 

6 Matching pairs: 

A. Hindustani Classical i. Bharatanatyam 

B. Carnatic Music ii. Sitar 

C. North Indian Dance iii. Veena 

 



D. South Indian Dance iv. Kathak 
 

 a) A-iii, B-ii, C-

i, D-iv 

b) A-ii, B-iii, C-

iv, D-i 

c) A-i, B-iv, C-ii, 

D-iii 

d) A-iv, B-i, C-

iii, D-ii b 

7 Assertion and justification: 

A: Global greenhouse gas emissions must be reduced by at least 45% by 

2030 to limit global warming to 1.5°C. 

B: The Paris Agreement commitment targets are sufficient to achieve this 

reduction. 

Answer 

 

 a) Both A and B 

are true, and B 

explains A 

b) Both true, but 

B doesn't explain 

A 

c) A is true, B is 

false 

d) A is false, B is 

true c 

8 Which traditional Indian art form received UNESCO's Intangible Cultural 

Heritage recognition in 2022?  

 a) Durga Puja b) Garba c) Chhau dance d) Kalbelia b 

9 True/False statements: 

A. India conducted its first anti-satellite missile test in 2019. 

B. The Indian Navy's first indigenous aircraft carrier is named INS 

Vikramaditya. 

C. India is a member of the Nuclear Suppliers Group. 

D. Agni-V is an intercontinental ballistic missile with a range exceeding 

5,000 km 

 

 a) A-True, B-

False, C-False, 

D-True 

b) A-False, B-

True, C-True, D-

False 

c) A-True, B-

True, C-False, 

D-False 

d) A-False, B-

False, C-True, 

D-True 

a 

10 Assertion and justification: 

A: India has recently strengthened its involvement in the Quad grouping. 

B: The primary objective of the Quad is to establish a military alliance in 

the Indo-Pacific.  

 a) Both A and B 

are true, and B 

explains A 

b) Both true, but 

B doesn't explain 

A 

c) A is true, B is 

false 

d) A is false, B is 

true c 

11 If 3x - 7 = 14, what is the value of x?  

 a) 9 b) 7 c) 5 d) 3 b 

12 Matching pairs: 

A. Circle i. All sides equal and all angles 

90° 

B. Square ii. All internal angles sum to 180° 

C. Triangle iii. Area = πr² 

D. Rhombus iv. All sides equal 
 

 

 a) A-ii, B-iv, C-i, 

D-iii 

b) A-iii, B-i, C-

ii, D-iv 

c) A-i, B-iii, C-

iv, D-ii 

d) A-iv, B-ii, C-

iii, D-i 
b 



13 Choose correct one. 

 

A. The President of India is elected directly by the people. 

 

B. The Directive Principles of State Policy are justiciable in Indian courts. 

 

C. The Indian Constitution provides for a unitary system of government. 

 

D. The Supreme Court of India has the power of judicial review. 

 

a) Only D  is 

Correct 

 a) Only D  is 

Correct 

b) A and B is 

Correct 

c) B and C is 

Correct  

d) A, B, and C 

are correct. 
(a) 

14 Which country will host the 2025 G7 Summit? 
 Canada 

 a) Germany b) Japan c) United States d) Canada d 

15 Who is the Chief Election Commissioner of India ? Gyanesh 

Kumar 

 a) Gyanesh 

Kumar 

b) Arun Goel c)Sunil Arora d)Rajiv Kumar  
a 

16 India's first 3D-printed post office was inaugurated in Bengaluru in January 

2025. 

A True 

B False 

C True, but the inauguration was in 18th August 2023 

D False, the post office is in Chennai 

 

 Only B is 

Correct  

 a) Only A is 

Corect 

b) Only B is 

Correct  

c) A & C both 

are correct  

d) B & D both 

are correct . 
b 

17  

A. Assertion: The United States imposed reciprocal tariffs on countries 

with high tariffs on American goods. 

 

B: Justification The move aims to promote economic nationalism and the 

"America First" policy 

 A is true and J 

is true and J is 

the correct 

explanation of 

A 

 a) A is true and J 

is true and J is 

the correct 

explanation of A 

b)A is true and J 

is true but J is 

not the correct 

explanation of A 

 

c)A is true but J 

is false 

 

d) A is false but 

J is true 

a 

18 What was the significance of NASA's recent discovery of water molecules 

on the Moon's sunlit surface, announced in late 2024? 

c)  It showed 

that water can 

exist in usable 

form even in 

sunlit regions 

of the Moon 

 a) It confirmed 

the Moon has 

large 

b) It proved that 

water is only 

found in 

c) ) It showed 

that water can 

exist in usable 

d) It led to 

immediate 

human 
(c) 



underground 

oceans. 

permanently 

shadowed lunar 

craters. 

form even in 

sunlit regions of 

the Moon. 

colonization of 

the Moon.   

19 Which country became the first to successfully land a spacecraft on the far 

side of the Moon's south pole in 2023?   d) India. 

 a) United States b) ) Russia c) China. d) India. (d) 

20 Match the number sets with the correct description. 

 

A Natural Numbers iCounting numbers starting 

from 1 

B Whole Numbers ii Natural numbers plus 0 

C Integers iii Positive and negative whole 

numbers 

D Rational Numbers iv Numbers that can be 

expressed as a fraction 
 

a) A-i; B-ii; C-

iii; D- iv 

 a) A-i; B-ii; C-

iii; D- iv 

b) A-ii; B-i; C-

iii; D- iv 

c) A-iii; B-ii; C-

i; D- iv 

d) A-iv; B-ii; C-

iii; D- i 
(a) 

21 Pick the odd one out: 

 

d) 

Sphere 

 a) Triangle b) Square c) Pentagon d) Sphere (d) 

 

22 Which document defines the objectives and powers of a company? c) 

Memorandum 

of Association 

 a) Articles of 

Association 

b) Share 

Certificate 

c) Memorandum 

of Association 

d) Board 

Resolution 
(c) 

23 Article 25 guarantee freedom of religion but it is subject to  a) Public 

order, 

morality, 

health and 

other 

fundamental 

rights 

 a) Public order, 

morality, health 

and other 

fundamental 

rights  

b) Public order, 

morality and 

health  

c) Public order, 

morality, health 

and sovereignty 

and integrity of 

India  

d) Public order, 

morality and 

secularism   (a) 

24 What is the meaning of the word – Nightmare? 
a bad dream 

 a) a pleasant 

dream 

b) a frightening 

night 

c) a bad dream d) a horrible 

scene 
(c)  

25 If 5 workers can complete a task in 12 days, how many days will 8 workers 

take to complete the same task? 7.5 days 

 a) 7.5 days b) 8 days c) 9 days d) 10 days a 



26 Statements: 

All pens are pencils. 

Some pencils are erasers. 

Conclusions: 

I. Some pens are erasers. 

II. Some erasers are pencils. 

Only 

conclusion II 

follows 

 a) Only 

conclusion I 

follows 

b) Only 

conclusion II 

follows 

c) Both 

conclusions I 

and II follow 

d) Neither 

conclusion 

follows 

b 

27 Simplify the algebraic expression: 

7x−3x+2−5=? 4x−3 

 a) 4x−3 b) 10x−3 c) 4x+7 d) 10x+7 a 

28 Solve for x: 

If 4x+7=19, then x=? 
3 

 a) 3 b) 4 c) 5 d) 6 a 

29 Following statements are either True or False: 

 

A. Bihar will host the Women’s Kabaddi World Cup 2025 

B. Kolkata will host the World Boxing Cup final 2025 

C. New Delhi hosted World  Para Athletics Grand Prix 2025 

D. Mumbai hosted 1st National Maritime Games 2025 

 

Choose the correct answers from options given below: 

A, C & D are 

True 

 a) Only D is 

True 

b)Only B & C 

are True 

c) A, C & D are 

True 

d) Only A & B 

are True 
c 

30 Assertion (A): Diplomatic Relations between India and Bangladesh has 

reached lowest points in decades. 

 

Justification (B): Bangladesh government aide has made negative 

comments on North East India. 

Both A and B 

are true, but B 

is not the 

correct 

explanation of 

A. 

 a) Both A and B 

are true, and B is 

the correct 

explanation of 

A. 

b) Both A and B 

are true, but B is 

not the correct 

explanation of 

A. 

c) A is true, but 

B is false. 

d) A is false, but 

B is true. 

b 

31 Match the following : 

 

A. Which state is home to India’s first 

Artificial Intelligence University 

i. Assam 

B. India’s first Open-Air Art Wall Museum 

inaugurated in 

ii. Karnataka 

C. Which state government launched a new 

governance model called Co-District 

initiative.  

iii. New 

Delhi 

D. Which state government renamed all ST 

residential schools to Maharishi Valmiki 

Residential School. 

iv. 

Maharashtra 

 

A-iv, B-iii, C-

i, D-ii 



 a) A-iii, B-iv, C-

i, D-ii 

b) A-ii, B-iv, C-i, 

D-iii 

c) A-i, B-iii, C-

ii, D-iv 

d) A-iv, B-iii, C-

i, D-ii d 

32 Following statements about recent incumbent of various important 

positions are either True or False: 

 

A. Sanjiv Khanna is the 26th Chief Justice of India. 

B. Sanjay Malhotra is the 26th Governor of Reserve Bank of India. 

C. Gyanesh Kumar is the 26th  Chief Election Commissioner of India. 

D. Upendra Dwivedi is the 26th Chief of the Army Staff of India 

 

Choose the correct answers from options given below: 

only B & C 

are true 

 a) A, B &D are 

true 

b) only B & C 

are true 

c) C & D are 

true 

d) B, C & D are 

true 
b 

33 Choose the one which best expresses the given sentence in Passive/Active 

voice. 

“After driving professor Kumar to the museum she dropped him at his 

hotel”. 

After being 

driven to the 

museum, 

Professor 

Kumar was 

dropped at his 

hotel. 

 a)After being 

driven to the 

museum, 

Professor Kumar 

was dropped at 

his hotel. 

b) Professor 

Kumar was 

being driven 

dropped at his 

hotel. 

c) After she had 

driven Professor 

Kumar to the 

museum she had 

dropped him at 

his hotel. 

d)  

After she was 

driven Professor 

Kumar to the 

museum she had 

dropped him at 

his hotel 

a 

34 A strange man was watching us. Choose the correct passive voice 

 

a) We had being watched by a strange man. 

b) We has been watched by a strange man. 

c) We were watched by a strange man. 

d) We were being watched by a strange man. 
 

Answer 

 a) Only (d) is 

correct 

b) Both (c) and 

(d) is correct 

c) All of the 

above are correct  

d) None of these 

a 
a 

35 What is the antonym of "optimistic"? Pessimistic 

 a) Realistic b) Cheerful c) Positive d) Pessimistic d) 

 

 

36 Select the correct indirect speech version of the following sentence: 

Rohit said, "I was working on this project yesterday when the client 

suddenly called me." 

 

 

 a) Rohit said that 

he had been 

working on that 

project the 

(b) Rohit said 

that he was 

working on this 

project yesterday 

c)Rohit said that 

he had been 

working on that 

project yesterday 

d)Rohit said that 

he was working 

on this project 

the previous day 

(a) 

 



previous day 

when the client 

suddenly called 

him. 

when the client 

suddenly called 

him. 

when the client 

had suddenly 

called him. 

when the client 

suddenly called 

him. 

37 Choose the correct answer based on the following statements. 

 

A: The passive voice is often used when the ‘doer’ of the action is less 

important than the cation or the recipient of the action. 

 

B: In passive voice, the object of an active sentence becomes the 

subject. 

 

 a) Both A and B 

are true, and B is 

the correct 

explanation of A 

b) Both A and B 

are true, and B is 

not the correct 

explanation of A 

c)A is true but B 

is false 

d)A is false but 

B is true 

a 

38 Match the blanks in List-I with the Prepostions in List-II:  

 

 List-I (Sentences) List-II (Prepositions) 

(A) The edited version of her article is 

indistinguishable ------------- her first version.  

(I) with 

(B) I just don’t feel any affinity ____________ his 

prose style. It’s too caustic.  

(II) to 

(C) Her ideas are not all that dissimilar 

___________ mine.  

(III) for 

(D) It would be wrong to mistake his diffidence 

___________ his arrogance or coldness.  

(IV) from 

Choose the correct answer from the options given below : 

a 

 a. (A) - 

(IV), (B) - (I), 

(C) - (II), (D) - 

(III) 

b. (A) - (I), 

(B) - (III), (C) - 

(II), (D) - (IV) 

c. (A) - 

(IV), (B) - (II), 

(C) - (I), (D) - 

(III) 

d. (A) - 

(III), (B) - (IV), 

(C) - (I), (D) - 

(II) 

 

39 Which of the following is the Lateral Consonant? / l / 

 a) / m / b) / p / c)/ l / d)/ f / c 

40 Select the correct Indirect form of the sentence “I have a new car”. 

Answer 

 a) He said he has 

a new car   

b) He said that 

he had a new car   

c) He said he 

have  a new car   

d) He said he 

had a new car   
(b) 

41 Read the following statements and choose True (T) or False (F): in the 

order of A, B, C, D 

A. The boys in the class is intelligent. 

B. Everyone were happy with the results. 

C. The bouquet of roses smells sweet. 

D. Neither of the answers are correct. 

 

F, F, T, F 

 a) F, T, T, F 

 

b) T, T, F, F c) F, F, T, F d) T, F, T, T 

 
(c) 

42 Questions for assertion and justification 

 
 



A: The sentence “I expect him to win” can be changed to “He is expected 

to win.” 

B: The transformation involves a change from active to passive 

voice. 

 a) Both A and B 

are true, and B is 

the correct 

explanation of 

A. 

b) Both A and B 

are true, but B is 

not the correct 

explanation of 

A. 

c) A is true, but 

B is false. 

d) A is false, but 

B is true. 
a)Both A and 

B are true, 

and B is the 

correct 

explanation 

of A. 

43 Choose the correct word: 

The earth ______ around the sun. orbits 

 a) rotates b) orbits c) circles d) none of the 

above 
b 

44 Choose the word which best expresses the meaning of the given below  

 

“UNCOUTH” 

Rough 

 a) Ungraceful b) Rough c) Slovenly d) Dirty b 

45 Synonyms: 

Lament 
mourn, 

deplore, weep 

 a) mourn, 

deplore, weep 

b) weariness, 

fatigue, lassitude 

c) longer, roam, 

wander 

d) pleasant, 

agreeable, kind 
a 

46 Every employee has liability to his office. Antonym of the underlined word 

is: 
exemption 

 a) consumption b) rebate c) exemption d) assumption (c) 

47 Choose the correct sentence transformation (affirmative to negative): 

She always comes on time. 

 

She does not 

fail to come 

on time. 

 a) She never 

comes on time. 

 

b) She does not 

always come 

late. 

c) She does not 

fail to come on 

time. 

d) She always 

comes late. (c) 

48 Which among the following is essential gene material? Answer 

 a)Protein b) Fat c) DNA d) RNA c 

49  Where was the “Rising North East Investors Summit 2025” inaugurated New Delhi 

 a)New Delhi b)Gangtok c)Bhopal d)Agartala a 

50 Keoladeo National Park is located in which state?  
Rajasthan 

 a)Gujarat b)Rajasthan c)Odisha d)Maharashtra b 

51 How many vertebrae are typically present in the adult human 

vertebral column? 

33 

 a) 22 b) 33 c) 44 d) 55 b) 

 

52 Which bone is the longest in the human body?  Femur 

 a) Femur b) Tibia c) Fibula d) Back bone a) 



53 The shape of the DNA looks like: 
Helical 

 a) Straight b) Helical c) Circular d) Branched 
b) 

54 Which of the following is used in Pencils? Answer 

 (a) Silicon (b) Graphite (c) Charcoal (d) Phosphorous (b)Graphite 

55 Assertion (A):Arunachal Pradesh experiences a significant difference in 

daylight hours from India’s Northern states. 

Reason (R):Arunachal Pradesh's location on the eastern side of India, close 

to the equator, results in a greater variation in solar intensity due to its 

latitude.  

Answer 

 a) Both 

Assertion and 

Reason are true, 

and Reason is 

the correct 

explanation of 

Assertion. 

b) Both 

Assertion and 

Reason are true, 

but Reason is 

not the correct 

explanation of 

Assertion. 

c) Assertion is 

true, Reason is 

false. 

d)Assertion is 

false, Reason is 

true. 
a)Both A and 

R are true, 

and R 

explains A. 

56 A number when divided by 91 leaves a remainder 65. If the same number is 

divided by 13, find the remainder. 0 

 a) 7 b) 0 c) 5 d) 12 b 

57 The number of States and Union territories in India repectively, are- 28 and 8 

 a) 28 and 8 b) 29 and 8 c) 28 and 6 d) 29 and 6 (a)  

 

58 Philology is the 
Study  of 

languages 

 a) study of bones b) study of 

muscles 

c) study of 

architecture 

d)study of 

languages 
d 

59 Which state is the host of Khelo India Youth Games 2025 
Bihar 

 a) Bihar b) Karnataka  c) Punjab  d) Orisha 
a 

60 In which North Eastern state the 100th Smart City has been selected? 
Meghalaya 

 a) Manipur 

 

b) Arunachal 

Pradesh 

c) Meghalaya 

 

d) Tripura 

 
(c) 

61 Choose the right option for the given assertion and justification 

 

A: Assertion: Most ancient civilizations developed near rivers. 

 

B: Justification: Man’s main occupation was agriculture. 

Both A and B 

are correct 

and B is not 

an appropriate 

explanation of 

A 

 a) A is correct 

but B is false 

b) A is false but 

B is correct 

c) Both A and B 

are correct and B 

is the 

d) Both A and B 

are correct and B 

is not an 

(d) 



appropriate 

explanation of A 

appropriate 

explanation of A 

62 India’s First Genome-Edited High-Yielding Paddy varieties DRR Dhan 

100 (Kamala) 

and Pusa DST 

Rice 1 

 a) DRR Dhan 

100 (Kamala) 

and Pusa DST 

Rice 1 

b) Reedling and 

RL6077, 

c) Pusa Pratibha 

and Pusa 

Shreshth 

d) PR23  and 

Shanyou 63 
(a) 

63 What is the primary objective of ASMITA Project, recently launched by 

Ministry of Education and UGC? 

To promote 

and integrate 

Indian 

languages 

more deeply 

into the 

education 

system 

a) To promote 

and integrate 

Indian languages 

more deeply into 

the education 

system 

 

b) To replace 

English with 

Indian languages 

in all subjects 

 

c) To promote 

foreign 

languages in 

India 

 

d) To build new 

universities 

a 

64*  
 

     
 

65*  
 

     
 

66 Choose the correct option: 

A: Assertion: Indian President is the head of the state 

B: Justification: Indian Parliament consists of President, Lok Sabha and 

Rajya Sabha 

Both A & B 

are True and 

B is not the 

correct 

explanation of 

A 

 a) Both A & B 

are True and B is 

the correct 

explanation of A 

b) Both A & B 

are True and B is 

not the correct 

explanation of A 

c) A is true but B 

is false 

d) Both A & B 

are True 
(b) 

67 Type Questions here for assertion and justification 

Assertion (A): In the sky, a rainbow can be observed after rain. 

Reason (R) : Color spectrum VIBGYOR is formed due to the dispersion of 

white light  by water droplets  

 

Both A and R 

are true, and 

R is the 

correct 

explanation of 

A. 



 a) Both A and R 

are true, and R is 

the correct 

explanation of 

A. 

b) Both A and R 

are true, but R is 

not the correct 

explanation of A 

c) A is true, but 

R is false. 

d) A is false, but 

R is true. 

(a) 

68 The longest river bridge is The Bhupen 

Hazarika Setu 

 a) The Munger 

Ganga Bridge 

b) The Mahatma 

Gandhi Setu 

 

c) The Bhupen 

Hazarika Setu 

d) Jayaprakash 

Setu (c) 

69 Match the explorer with their corresponding discovery or achievement 

 

A  Christopher Columbus I  First European to reach India by sea 

B  Marco Polo IIFirst to sail around the world 

C  Ferdinand Magellan III Discovered the Americas (New 

World) in 1492 

D  Vasco da Gama IV Traveled to China and documented 

the journey in "The Travels of Marco 

Polo" 

 

 

 

 a) A-IV, B-II, C-

III, D-I 

b) A-I, B-II, C-

IV, D-I 

c) A-III, B-II, C-

IV, D-I 

d) A-III, B-IV, 

C-II, D-I d 

70 What major defense initiative did the UK government announce on VE 

Day 2025? 

The 

most 

extensive 

military 

overhaul since 

World War II 

 a) Withdrawal 

from NATO 

b) Reduction in 

defense 

spending 

c) The most 

extensive 

military 

overhaul since 

World War II 

d) Disbanding of 

the Royal Air 

Force c 

71 Which Indian leader was known as the Iron Man of India? Sardar 

Vallabhbhai 

Patel 

 a)Sardar 

Vallabhbhai 

Patel 

b) Mahatma 

Gandhi 

c)Subhash 

Chandra Bose 

d) G B Pant 

(a) 

72 Who is the new chief justice of India?  
Justice B R 

Gavai  

 a)Justice Sanjeev 

Khanna 

b) Justice B R 

Gavai 

c)Justice Uday 

Umesh Lalit 

d)Dhananjaya 

Yeshwant 

Chabdrachud 

 b 



73 A boy walks 10 meters north, then turns right and walks 15 meters. He 

turns right again and walks 10 meters. In which direction is he now from 

his starting point? 

 

East 

 a) North b) South c) East 

 

 

d) West 

 c) 

74 The minute and the hour hands of clock make an acute angle between 

them. Which of these could be the time that the clock is showing? 
Answer 

 a)2.30 b)6.30 c) 4.00 d) 5.45 b)6.30 

75 In direction sense reasoning, if a person is facing North and turns 

right, what direction are they now facing? Indicate your answer by 

selecting from the code. 

 

A. North-East 

B. West 

C. South 

D. North-West  

Answer 

 a) a only  

 

b) b only 

 

c) d only 

 

d) c only  
a) a only  

 

76 Match the following terms with their descriptions: 

A.Bar Graph i.Used for continuous grouped 

data 

B. Pie Chart ii. Represents data in slices of 

a circle 

C. Line Graph  iii. Used to show trends over 

time 

D. Histogram iv. Displays data with 

rectangular bars 
 

A - iv, B - ii, 

C - iii, D - i 

 a) A - iv, B - ii, C 

- iii, D - i 

 

b) A - iii, B - i, C 

- ii, D - iv 

 

c) A - ii, B - iv, C 

- i, D - iii 

 

d) d) A - i, B - 

iii, C - iv, D - ii (a) 

77 Choose the option that relates to the third term in the same way that the 

second term relates to the first. 
Fog : Visibility : : AIDS:________. 

 

Resistance 

 a) Health b) Resistance c) Virus d) Death 

 

(b) 

78 Find the odd number: 2, 4, 8, 12, 16, 32 12 

 a) 12 b) 32 c) 4 d) 8 a 

79 If 1 + 2 = 3, 2 + 3 = 10, 3 + 4 = 21, then 4 + 5 = ? 32 

 a) 32 b) 25 c) 36 d) 14 a) 

80 What comes next in the series given below? 

B, D, G, K, __ 

 

P 

 a) P b) C c) Q d) R (a) 

 



81 Match the following festivals according to the tribes celebrating them 

 

A. Moh mol i.  Khampti 

B. Poi pee Mau ii. Miji 

C. Torgya  iii. Tangsa 

D. Chingdang iv. Monpa 
 

a 

 a) A-iii, B-i, C-iv, 

D-ii 

b) A-iii, B-ii, C-i, 

D-iv 

c) A-ii, B-iv, C-i, 

D-iii 

d) A-i, B-ii, C-iv, 

D-iii 
 

82 Match the following GI products with the place of their origin 

 

A. Kekir ginger i.  Meghalaya 

B. Lakadong Turmeric ii. Nagaland 

C. Tree tomato iii. Arunachal Pradesh 

D. Kachai Lemon iv. Manipur 
 

b 

 a) A-i, B-iii, C-iv, 

D-ii  

b) A-iii, B-i, C-ii, 

D-iv 

c) A-ii, B-iv, C-i, 

D-iii 

d) A-iv, B-iv, C-

iii, D-i 
 

83 The Pulitzer Award is given to honor achievements in b 

 a) Literature b) Journalism c) Music d) Science  

84 If FISH is written as EHRG in a certain code, how would JUNGLE be written in 

that code? 

a 

 a) ITMFKD b) ITNFKD c) KVOHMF d) TIMFKD a)  

85 Assertion (A):  Pluto is the coldest planet  

Reason (R):  It receives slanting rays of- the sun.  

 

 a) Both A and R 

are true and R is 

the correct 

explanation of A. 

B) Both A and R 

are true but R is 

NOT the correct 

explanation of A. 

C) A is true but R 

is false. 

D) A is false but R 

is true. 
c 

86 MatchList I withList II 

 

List I List II 

A.Environment Protection Act I.1974 

B.Air Prevention & Control of Pollution Act II. 1987 

C.Water Act III.1986 

D.Amendment of Air Act to include noise as an air 

pollutant 

IV.1981 

Choose the correct answer from the options given below: 

 

 a) A-III, B-IV, C-

II, D-I 

b) A-IV, B-I, C-

II, D-III 

c) A-III, B-IV, C-

I, D-II 

d) A-I, B-III, C-II, 

D-IV 
d 

87 Assertion (A):  Pressure cookers are fitted with ebonite handles 

Reason (R):  Ebonite is strong.  

 

 a) Both A and R 

are true and R is 

the correct 

explanation of A. 

b) Both A and R 

are true but R is 

NOT the correct 

explanation of A. 

c) A is true but R 

is false. 

d) A is false but R 

is true. 
c 

88 Fathometer is used to measure  

 a) Earthquakes b) Rainfall c) Ocean depth d) Sound intensity c 



 

 

89 

 

In which year, Namdapha Wildlife Sanctuary was declared as National Park? 

d a) 1972 

 

b) 1975 

 

c) 1980 

 

d) 1983 

90 

 

Which Dalai Lama was born in Tawang d 

a) 3rd b) 4th c) 5th d) 6th  

91 Choose the correct statement  

A. Parshuram Kund is located in Lohit District. 

B. Parshuram Kund is located in East Siang District. 

C. Parshuram Kund is located in East Kameng District. 

D. Parshuram Kund is located in West Kameng District. 

a 

 a. Only A b. Both A and D c. both C and D d. Only D Only A 

92 Assertion (A): INS Surat is India’s first AI-enabled warship commissioned 

in 2025. 

Reason (R): It is part of the Project-15B Vishakhapatnam Class stealth 

destroyer series, designed by the Indian Navy’s Warship Design Bureau. 

a 

 a) Both A and R 

are true, and R is 

the correct 

explanation of A. 

b) Both A and R 

are true, but R is 

not the correct 

explanation of A. 

c) A is true, but 

R is false. 

d) A is false, but 

R is true. 

Both A and 

R are true, 

and R is 

the correct 

explanation 

of A. 

93* Please match the correct answer  

A. Isaac Newton i. Theory of Relativity 

B. Albert Einstein ii. Theory of Evolution 

C. Charles Darwin iii. God Particle 

D. Leon Lederman iv. Laws of Motion 
 

a 

 a) A-iv, B-i, C-ii,    

D-iii 

b) A-iii, B-iv, C-

i, D-ii, 

c) A-iv, B-i, C-ii, 

D-iii 

d) A-i, B-ii, C-iii, 

D-iv 

A-iv, B-i, 

C-ii,    D-

iii 

94 Which of the following is known as the Morning Star? b 

 a) Mars b) Venus 

 

c) Jupiter d) Saturn 
Venus 

95 Who wrote the book, My Experiments with Truth? d 

 a) Jawaharlal 

Nehru 

b)Govind 

Ballabh Pant 

c)Subhas 

Chandra Bose 

d) Mahatma 

Gandhi 

Mahatma 

Gandhi 

96 Match the programming languages with their primary use: 

 

A. Python i Database Management 

B. JavaScript ii Web Development (Structure) 

C. SQL iii General-purpose Programming 

D. HTML iv Web Development (Behavior) 
 

a 

 a) A-iii, B-iv, C -

ii, D-ii 

b) A-iii, B-iv, C-

i, D-ii,  

c) A-iv, B-i, C-ii, 

D-iii,  

d) A-i, D-ii, C-

iii, D-iv 

A-iii, B-iv, 

C -ii, D-ii 

97 The Planning Commission of India is replaced by c 



 a)Finance 

Commission 

b)Central 

Planning Board 

c) NITI Aayog d) Law 

Commission 

NITI 

Aayog 

 

98 Who painted the Mona Lisa? 

A. Pablo Picasso 

B. Leonardo da Vinci 

C. Vincent van Gogh 

D. Michelangelo 

E. None of the above 

Choose the correct answer from the option below: 

d 

 A & C D only  E B only  B Only 

99 A computer peripheral device that is used to read printed/handwritten/ type 

written characters into machine encoded text thus enabling us to get 

digitized text is 

a 

 a) OMR b) OCR c)Digital camera d) Disk driver  OMR 

100 Assertion (A): The Intergovernmental Panel on Climate Change (IPCC) has 

predicted a rise in sea levels due to global warming. 

Reason (R): Sea levels rise because warmer temperatures cause polar ice to 

melt and ocean water to expand. 

a 

 a)  Both A and R 

are true, and R is 

the correct 

explanation of A. 

b) Both A and R 

are true, but R is 

not the correct 

explanation of A. 

c) A is true, but 

R is false 

d) A is false, but 

R is true. 

Both A and 

R are true, 

and R is 

the correct 

explanation 

of A 

 

* Q 64, 64, 93- Forwarded for Grievance Committee Decision 


